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Number of Questions to be attempted : 45

Section Marks : 75
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Sub-Section Number : 1
Sub-Section Id : 974109392
Question Shuffling Allowed : No

Question Id : 9741093537 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 20)
Question Label : Comprehension

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufﬁciency

Note:  In questions numbered from 1 to 20, a question 1s followed by data mn the form of
two statements labelled as (I) and (I). You must decide whether the data given i
the statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) 1if the statement () alone 15 suffictent fo answer the question.

(b) Mark choice (2) if the statement (IT) alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements (I) and (II) are sufficient to answer the
question but neither statement alone 15 not sufficient.

(d) Mark choice (4) 1f both the statements (I) and (II) together are not sufficient to
answer the question and additional data are required.
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Question Number : 1 Question Id : 9741093538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY k& (3 #
1. Data Sufficiency

:—':_‘Ef/d;-':- s

Is the positive integer p a prime?
"ﬁ-_..f—"‘?!,{._.ﬁ p M...f_“,»?'L.__..J/
() p 1s an even number.
-q_..u..f_“.-iz P
(Il) The sum of positive integers which are less than or equal to p 1s 91.

_QQILpgdruL@{fﬂfﬁf’;_"éuU-:“

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 2 Question Id : 9741093539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY k& (3 #
1. Data Sufficiency

:—':_‘Ef/d;-':- s



What 15 the area of the circular path enclosed between the circular garden and its circular outer
fence?

-ﬁc,'l.".f’,uﬁ.._.bul &J:-:’U!FUj;gfﬁgﬁ-fjxggabu.nﬂ}

(I) The diameter of the garden 1s 50 meters.
v 4 50~ Ku.b{
(IT) The radus of the circle formed with the outer fence 15 28 meters.

o B bnm SNt L2 P oL &

-

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 3 Question Id : 9741093540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =k& (3l 7
1. Data Sufficiency

i et

s
For non zero real numbers ¢ and b. 1s = ?

s %-: 0 b;:imlj...-fi{}?i((})f-}ini

D) ab<0
I a+b<0
Options :
1.9 1

2. %2



3. % 3
4. % 4

Question Number : 4 Question Id : 9741093541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufficiency

;;£/£ T

How many birds are there on the tree?
iy E{,_".é;:
(I) If four birds fly away there will be less than 10 birds on the tree.
Ll cr0yesn L2 i)

(I) If four new birds perched on the tree there will be more than 16 birds on the
tree,

W ; ¢
e 16 by s ndnd S\ sy ndne ks E 4/

_Z.uf —gl

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 5 Question Id : 9741093542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =b& (3l %
1. Data Sufficiency
T

ol u.‘;L:)"’



What 15 the perimeter of the rectangle which has positive integers as lengths of all its sides?

Y _".:*du J(u,;'!/)r‘ dL,"‘”fﬂ.ﬂ.ﬂlmW_ﬁ

(I) Its breadth 1s 5 cm.

e all 6}5&/""’# fiad

(I) Its diagonal 1s 13 em.

-«;_.}:/’L;’HIB(diagona])}':Ku"’I

Options :
1. %1
2.¥ 2
3.%83
4. % 4

Question Number : 6 Question Id : 9741093543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufficiency

:.;EKJ =l



Find the mteger m satisfying 0 < m < 99.

O<m< 99;./',&@3‘36'__:/%:,\_!@-}

(I) m 1s amultiple of 11.

£l lq_._..r,r}J"JL..r"m

(IT) The digit in units place of m is 8.

& o

--8'm JMUH%‘.;JJ (]

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 7 Question Id : 9741093544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =b& (3l 7
1. Data Sufficiency

m o L

What 15 the average weight of a student 1n the class of 30 students?

KA I I A fL30)

(I) In the class. 20 students are girls.

e U0 s

(II) The total weight of all the students put together 15 780 kgs.
LT
e (1) 180 St s

Options:



1. %1
2.9 2
3.%3
4. % 4

Question Number : 8 Question Id : 9741093545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY k& (3 #
1. Data Sufficiency

-
= D s
What 15 the total surface area of the cuboid?

£y L:v-‘f..__.jxdbﬂ oA K_J{

(I) Volume of the cuboid is 240 cm’.

- 240 e’ l.“.-"r(mr-.-; K_-’f

(I) Length and breadth of the cuboid are in the ratio 4 : 3.

-6'—-0?/—“-—"‘)54 : 35._.ijf—"‘,u|dil’

Options :
1. % 1
2. % 2
3.%3
4. ¥ 4

Question Number : 9 Question Id : 9741093546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =b& (3l 7
1. Data Sufficiency

e el



Find the cost price of the article.

-épl—” _"j iJ_*.-E J:J;"':-’

(I)  The profit percent on the article 1s equal to discount percent announced on its
marked price.

_*’Jih’_/jt._.ji._;{,_-.-fa:ﬁr‘ LE/_*.I;LA JE’:”MOK@L..ML&/
_&'_.,{!,{Z.

I) The profit percent on the article 15 10%.
I p

e 10%.MJK5L:A;E:“

Options:
1. % 1
2. %2
3.%3
4.9 4

Question Number : 10 Question Id : 9741093547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =k& (3l 7
1. Data Sufficiency

:.q_ﬁ'fg =l



. . : ; b
If the numbers a,b, ¢, d are in geometric progression, what 1s the value of —?
&= = c

et A L a AP b d

(I) The product of a and d 1s 64.

-;:-_.64__,;."_&"4L..-—’Kd,uln

(I) The common ratio of the progression s 4.

A Ay War I

Options :
1. % 1
2.¥ 2
3.%3
4, % 4

Question Number : 11 Question Id : 9741093548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =b& (3 %
1. Data Sufficiency

:.f_ﬁ'fg; S



Is mnteger 1 divisible by 14?

T lélq'_.lff.""Flj JL‘L’H :J—JL“..-J

() n1s an even mteger divisible by 7.

-q_.ﬂ.‘ﬂ gkL‘:JL.7ﬂq;.:A..f_“,32_.grt

(I) n1samultiple of 7.

-q_._.,/};_j"il...f?{?u..fn

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 12 Question Id : 9741093549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =b¢ (3 #
1. Data Sufficiency

:.;E/J S



In the adjacent figure, arc QRO 1s a semicircle. What 1s the area of the circle with centre O?

}r‘f-*”-q'_.afl:_iﬁj(?}?(}uﬁ""”z.u.{. £3 '
-gf:n—*—j.-‘l-:’rkh—flﬁao P

(I) Area of APOQ = 30 sq.units.

U ~"30-=3K0P0Q

(I) Length of QRO = 2.5m.

(ng.j} 25T = J#KQRO

Options :
1. % 1
2. %2
3.+¥3
4. % 4

Question Number : 13 Question Id : 9741093550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY k& (3 #
1. Data Sufficiency

= T

s, u.‘;L:)”



How many men are required to complete the work 1 10 days?
* - -
2L TR o 0k Mg L

() 4 women can together complete the work 1n 20 days.

LA IO K S 74

(I) 6 men and 4 women can complete the work 1 15 days.

g i

-/ U1 5)?}()1}*";5!?4;3!;};76

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 14 Question Id : 9741093551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufficiency

A

If A, B are any two sets, find the set B.

Y 2 W Y A Bl Al

() ANB={1,2345,6)

() A-B={7,8910,11,12}



Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 15 Question Id : 9741093552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufficiency

o [

e el
What 1s the amount of money Rajesh invested in a post office savings scheme?
gl :.'! ..r' N -
il LEJK:—-"““ LF/JP-}JQJ L,".f""‘l/:-oi ol H.u"")f - J{"/_.u'_'r“f!.i

. i : 25 x :
(D An increase of simple mterest rate fmm;% to 10% on his mvestment in the

post office savings scheme inereases his yearly imcome by Rs.600.
10% :r,;r;";-dfru(d;bf._"f-bfﬂ/;fu"’!’/ui:L. ?% s
Irt 160008 SaT e M S Iy F

(I) If the rate of simple interest is 12% per annum. then his investment gets

doubled in 8 é years.
U il Ut 1% sl ]

-JLL_--":‘EUEJ’JJ

Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 16 Question Id : 9741093553 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufficiency

:.;EKJ =l

A conical vessel of height 18 c¢m contains water upto 50% of its volume. If this water is
transferred to a cylindrical vessel, then what is the height of the water m the cylindrical vessel?

Jigm sk o e U i 1860 AS U T i~
MG bt Lo /S e F i B

(I) The height and base radius of the cylindrical vessel are 20 em and 4 cm

respectively.
-L,L?,H”L:‘yiﬂrﬂ'}-../‘ijvZﬂ%f:)@"ﬁ""d%’j"brwsé‘j'#l

(Il) The base radius of the conical vessel 1s half of the height of the water level in

the eylindrical vessel.

e tr LWL G b Gl af

Options:
1. %1
2. %2
3.3
4, % 4

Question Number : 17 Question Id : 9741093554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =b& (3 %
1. Data Sufficiency

:.f_'iﬁi:'r =l



In the Tenth class annual examimation many students failed 1 English or Mathematics or both.
How many students failed in both English and Mathematies?

Ln s Uink oG A A e Y i L sty

SLn bt o i b

(I) The number of passes in Mathematics exceed the number of passes m English
by 2500.

Lag eSS fuh s A

k2500 s

(I) The number of students who passed both in English and Mathematics 15 1400.

- 314(]0%/&_.-&1,_-#?;_}:'/&33_.&2;;&5};}']

Options :
1. % 1
2. %2
3.%¥3
4.+ 4

Question Number : 18 Question Id : 9741093555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =b¢ (3 #
1. Data Sufficiency

.."..f_".i'/ﬁj s



How 15 4 related to X?

9.5'_.JL;‘L. XE,-;'-J’U*'JA

(I) A’s father is the only son of X’s mother.

e Lot B LA

(IT) X 1s the mother of two children.

[,

-JUoUEn X

Options :
1. % 1
2. %2
3.%3
4, 4

Question Number : 19 Question Id : 9741093556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY =b& (3 %
1. Data Sufficiency

G'-‘,‘_‘EKL; S



Is the area of a quadnlateral R greater than the area of quadnilateral S?

_%IQLSW;L?,P._.,SJKRJJJ;L?RL{H

() Perimeter of R > Perimeter of S.

Ve b2 LShAER

(I) Rand S are both trapeziums.

B ISR

Options :
1. %1
2. %2
3.%83
4.9 4

Question Number : 20 Question Id : 9741093557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A - ANALYTICAL ABILITY =.b& (3l 7
1. Data Sufficiency

o [

e el



What 15 the volume of a rectangular box?

WS K;.,‘i;,y‘?

(I) The height of the box 1s 25 c¢m.

_?,H”G‘WZSUMJ{_.F
(I) Total surface area of the box 15 6 sq.m.

£ I8 ;-g,fcf,-afa.,ﬁ,af' s
Options :
1. %1
2. % 2
3.% 3
4. ¢ 4
Sub-Section Number : 2
Sub-Section Id : 974109393
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9741093558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

b
AZ % . Dp:
27
Options :
1. %



19

17
3. %

21
4.8 19

Question Number : 22 Question Id : 9741093559 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A Series(Analogies/a:b::c:d relationships)

A

(3,14): (39, 84) :: (155, 258):

Options:

(399, 582)

(399. 586)

2. %

399, 58«
- (399, 584)

Lo (399.588)

Question Number : 23 Question Id : 9741093560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A Series(Analogies/a:b::c:d relationships)

L
PEN : K5M :: YES :



Options :

H5B
1. %

F5C
2. %

A5G
3. %

B5H
4. &

Question Number : 24 Question Id : 9741093561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

L
40320 : 13440 :: - 384
Options :
2688
1.+
. 2689
2680
3. %
2690
4, %

Question Number : 25 Question Id : 9741093562 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

AL

CAIM : 841 :: EVEN :

Options:
1936
1. %
1849
2. %
2116
3.¢¥
1600
4. %

Question Number : 26 Question Id : 9741093563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

K3D : N5F A

Options :
Q8H

5 Q7H

Q1]



Q6H

Question Number : 27 Question Id : 9741093564 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

S

(10.22): 2ty (22):

Options:

(—8,—16)
1. %

(8. 16)
2. %

(8,—16)
3.

(—8,16)
4, ®

Question Number : 28 Question Id : 9741093565 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a b::c:d relationships)

A

TALE - GZOV - HERLY:

Options:



SVIL

1.¢

SVIM
2. %

TUIL
3. %

TVIL
4,

Question Number : 29 Question Id : 9741093566 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

A
(2,4;20): {4, 6;52) - {0, 8; 100) -
Options :

(8.10: 164)
1.4

(8. 9: 145)

(8. 10; 461)

(8, 10: 149)
4. %

Question Number : 30 Question Id : 9741093567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
A Series(Analogies/a:b::c:d relationships)

AL

2.3 M) (5.4 Y) 43,6 1)

Options:
(4. 5: P)

(4, 5:N)

(4.5: M)

(4.5: 0)
4, &

Sub-Section Number : 3
Sub-Section Id : 974109394
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 9741093568 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series( Odd things out)

LA

MX, KV, IS, GR, EP, CN

Options :
GR
1. %
IS



EP

KV

Question Number : 32 Question Id : 9741093569 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series( Odd things out)

e

12 12 28 39 52

15"24" 36" 48" 63

Options :
19
24
1. %
28
36
2. ¥
39
48
3. %
12
4. % 13

Question Number : 33 Question Id : 9741093570 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A Series( Odd things out)

A

51 &7 85 97 12F 151

46’61"78"89" 118" 141

Options :
97
89
1.
85
78
2. %
67
61
3. %
151
141
4, %

Question Number : 34 Question Id : 9741093571 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series( Odd things out)

A

Carrots, Potatoes, Onion, Turnips. Ginger, Beetroot, Tomato

b e ¢ g, ¢ e p
I S Y ol W e

Options :
. ~
Ginger SRS
1. %
B .i
Tomato Pt



Turnip

Onion i, 0

Question Number : 35 Question Id : 9741093572 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Series( Odd things out)

e

64, 56, 72, 82, 48,92, 76

Options :

72

48
92

82
4.9

Sub-Section Number : 4
Sub-Section Id : 974109395
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9741093573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A Series(Missing numbers in sequence or series)

A

BG KO WA

Options :

I

Question Number : 37 Question Id : 9741093574 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Series(Missing numbers in sequence or series)

A

3,24, 48, 120, 168, . 360

Options :



Question Number : 38 Question Id : 9741093575 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Sertes(Missing numbers in sequence or series)

67 85 127 ‘153 479
76 94’ 136’ 160’ 186
Options :
105
114
1.9
85
94
2. ®
67
76
3. =
148
160
4. %

Question Number : 39 Question Id : 9741093576 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Sertes(Missing numbers in sequence or series)

A



6,24, 27, 108, 111, 444,

Options :

462
1. %

452
2. %

448
3. %

447
4.+

Question Number : 40 Question Id : 9741093577 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Sertes(Missing numbers in sequence or series)

LA
2,6,12, 20, 30, 42, 12
Options :
58
1. %
56
2. ¥
54
3. %

: MCQ Option Shuffling : Yes



Question Number : 41 Question Id : 9741093578 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Sertes(Missing numbers in sequence or series)

I
4,8.13.5.10. 15,6, iR

Options :

10
1. %

13
2. %

11
3. %

12
4. &

Question Number : 42 Question Id : 9741093579 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Sertes(Missing numbers in sequence or series)

A

L2 a4 7. 01,1622 29 . 46

Options :



b
(o

2. %
27
3. v
38
4. %

Question Number : 43 Question Id : 9741093580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Series(Missing numbers in sequence or series)

LA
100, 98, 95, 91, 86, 80, . B5

Options:

71
1. %

73
2. ¥

72
3. %

74
4, =

Question Number : 44 Question Id : 9741093581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Sertes(Missing numbers in sequence or series)

LA



If SWACHBHARAT 1s writtenas HD X Y Z  ZG, then the sequence of missing letters
15

do~47 8D X Y 7 26 S A~ 14 swaceBHARAT /]

=
-?—H?{.JL""’QLLJH
Options:
L, .U, 1
1. ®
5 & Z.8,8,1
% L. T.F 1
PR R
4. %

Question Number : 45 Question Id : 9741093582 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Series(Missing numbers in sequence or series)

A

6, 24, 60, 120, 210, 336,

Options :

374
1. %

436
2. %

504



618

4, ®

Sub-Section Number : 5
Sub-Section Id : 974109396
Question Shuffling Allowed : No

Question Id : 9741093583 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 48)
Question Label : Comprehension

B. Data Analysis

The data regarding the sales in one month of mobile phones of brands 4,B,C,D and E sold
through 5 outlets I, IT. II1. IV and V are given in the following table. Based on this data, answer

the questions from 46 to 48.

APV o 1 I L VUl s L=t [IKEAB,C.DJ= 3= |y
= 2 L 48646 = Uiy A oty T e T i £

Outlet —

A 210 340 260 190 250
B 130 175 240 260 165
C 190 260 140 180 160
D
E

385 425 290 180 195
05 80 45 75 110

Sub questions

Question Number : 46 Question Id : 9741093584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
f:;E‘#LJJ"j

What 15 the total number of mobiles of all brands sold through all the outlets i the month?
A= P o Yine TS L i et

Options :

| % 4000
4500

3 ¢ 5000

LY
L
L
L

Question Number : 47 Question Id : 9741093585 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis

What 15 the percentage of the total number of mobiles of brand D in the total number of mobiles
of all brands sold through all the outlets?

?q_.,&...ﬂ:.;l.“.-«f’( —_3 Lu;fnf_.u,’: /4! u;i:uru";..ﬁé&h’i,r iy TR
Options :

| % 495

39.5



Question Number : 48 Question Id : 9741093586 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
.‘::{:-.Kh:;l':b".

The ratio of the maximum number of mobiles of all brands sold 1n the month by a store to the
minimum number of mobiles of all brands sold in the month by a store 15

[ - ' . . . . . . . o "
PR =1Ll sl ml e s o o L il

cee A e S L_EL,',-,'T-'I,{rL..-}Kg'Kﬂd!:L./ — Sl

Options:

Sub-Section Number : 6
Sub-Section Id : 974109397
Question Shuffling Allowed : No

Question Id : 9741093587 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (49 to 51)
Question Label : Comprehension



B. Data Analysis

In the following Pie-Chart, distribution of the number of cars in four major cities of a state is
given. In the table the ratios of number of diesel cars to those of the petrol cars are given. Total

number of cars in four cities 1s 147000. Based on this, answer the questions from 49 to 51.

LEJMJH d’usﬁiuy——f?;y&.;ap_..cfru:-"_wy&gﬁﬁ.“:
uHU:JJU!JL;)-{_.L(fE}—#’UKJKJJF"’:HIJKJJ:;WJ}H-%{
Ere MR LS 14y oS K 147000 4

Ratio of Diesel to Petrol Cars

City K Uk Jzb s iz

A 3:4
B 6:7
C 5:3
D 3:11

Sub questions

Question Number : 49 Question Id : 9741093588 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis

What 15 the difference of the number of diesel cars i city D and the number of petrol cars i
city B?

UKy oty B KUk nl oL D~
S LA

Options :
12120



12010

2. %

11960
3. %

11760
4. &

Question Number : 50 Question Id : 9741093589 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
:,:gb/_-:_,l,:b'-"

How much percent of petrol cars in city C 1s greater than the petrol cars m city A?

?q..a:.lijd)..ﬁ.éif_.uuﬁ)u-*’f; S A= K s =~ C

Options:

42

Question Number : 51 Question Id : 9741093590 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
:f:;E/&LJJ"j

What 15 the ratio of 20% of petrol cars i city B to the 25% of petrol cars in city C?

e AP I 25U K s L et i 2098 s K s i LBt

Options :
1315
1. %
1315
2. ®
14: 15
3.
507
4, %
Sub-Section Number : 7
Sub-Section Id : 974109398
Question Shuffling Allowed : No

Question Id : 9741093591 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (52 to 55)

Question Label : Comprehension
B. Data Analysis
.‘::{:-.Kh:;L:b".



In the Venn diagram given below. A is the set of all natural numbers less than 25, B 1s the set
of all positive integers that contain the digit 5 and C 1s the set of all primes less than 30, Using

this information answer the questions 52 to 55.

Af 25 S 2o s Kol A Juas I A Lo s s
30 2 1P B E e s K digits 2N TR

e Rl s St52s Uiy nd_ S i1 = VR { g

\/

Sub questions

Question Number : 52 Question Id : 9741093592 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
:::;E‘#L}J"j

The number of integers in the region I 1

~UIIAA ST " 1egion]

Options :

1
1.¢



)

2. %
3
3. %
4
4. %

Question Number : 53 Question Id : 9741093593 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis

Number of integers in the region F 15

~UIAA SA e region F

Options :

10

Question Number : 54 Question Id : 9741093594 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
:,:EKH-LL:JJ'-"



The number of elements in the region K 1s

JFJJ/"WMU.’I""A region K

Options:

|
1. %

=
2. %

3
3. %

Infinite

(Sl
4. &

Question Number : 55 Question Id : 9741093595 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B. Data Analysis
:::;E‘-':-*L}J"j

The total number of elements in the regions T and L together 1

Ju.jul/ﬁl.‘-fﬁj-"? Uo"regions Ll ]

Options :

16
1. %

15
2. ¥

14



12

4, ®

Sub-Section Number : 8
Sub-Section Id : 974109399
Question Shuffling Allowed : No

Question Id : 9741093596 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (56 to 60)

Question Label : Comprehension

C. Coding and Decoding Problems
=Wy C g_,;,ui.f s

In a certain code. n'™ letter of the English alphabet is coded as (n — 4)™'mod 26 letter if n 1s

even and (n + 4)mod 26 if 1 is odd. The inverse process is used for decoding. Using this
information answer the questions 56 to 60.

LI~ 26 mod (n — 4)™  nth 9~ u’?”d:{./ﬁuﬁ'"ﬁi,fjf_’gﬁ
_..LJ.fJ — WL g_.JL.-i’n)!_.rf-*}ZG mod (n + 4) }Ic,'..._.-ﬁ?'n)!_t./r
L6056ty st LS J5f I 1o b U it

Loy 7

Sub questions

Question Number : 56 Question Id : 9741093597 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
=i s p_?_.-'ﬂ-.f' s



Code word for ABORDS 15
e E3C0de L ABORDS

Options :

EXSNZV

1. %

EXSMZW

EXTNZZ
3. %

EXSNZW

Question Number : 57 Question Id : 9741093598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
Ul f.jifg_:’ixﬁi.f};

Code word for PAIRED 15

B33/ ¥PAIRED
Options :
. v LEMNIZ
, » LEMOIZ
LENMIZ



LEPNIZ

Question Number : 58 Question Id : 9741093599 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
Ul L5 S b3

JANITOR 1s coded as
S~ 1 1aNTTOR

Options:

FEJQPSN
1. %

FEIMQSN
2. ®

FEIMPSN
3.¢

FEJQPSN
4. %

Question Number : 59 Question Id : 9741093600 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
= Ul L.Lfifdixrl.ﬁﬂ/



Which word is coded as JACKLEG?
- I B IACKLEG

Options :

NWYHPAC

1. %

NWYGPAC
2. ¥

NWGYPAC

NWYGAPC

Question Number : 60 Question Id : 9741093601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
o Ul L.ﬁiﬁ:’im.ﬁh‘/

Which word 15 coded as WAGONS ?

A wacoNsEILY

Options:
SWCKOR
1. %
SWCRKO



SWKCRO

3. %
SWCKRO
4,
Sub-Section Number : 9
Sub-Section Id : 974109400
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9741093602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
= Ul E..ﬁf;_:’im.ffjf

In a certain code. INU 1s written as 101714132106. In the same code PUSA 1s written as

U1 pusa s 3 T 10114132106. LI AL~ IO 3
-gfﬂr—}

Options :

1611210619080126

1.+
1611210619080162

1611210619086201

1161216019080126



Question Number : 62 Question Id : 9741093603 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
= Ll L.ﬁifdbﬂ.ﬁif

If ROAD 1s coded as URDG. then EVEREST 1s coded as

Ko~ 1 BVEREST 4T et oS3 URDGY ROAD/)

Options :

HYHVHWX
HYHUHVX
HYHUHVW

HYHUHWY

Question Number : 63 Question Id : 9741093604 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
Ul f.jifdjm.fjf

If PROFIT i1s coded as MOLCFQ, then the code for EXAMPLE 1s

=
|

Ko S ExampLEd MOLCFQUA L3 L~ v~1 PROFIT/

Options:
1. %



BUXKMIB

BUXIMIB
2.

BUXJINIB

BUXJMHB
4, ®

Question Number : 64 Question Id : 9741093605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
o Ul E..Ifif;_:’jm.f}f

If CALCULATOR is coded as ACCLLUTAROQ. the code for COMPUTER 15
;,l

Y comPuTERY s/ 3 ACCLLUTAROS CALCULATOR/

Options :

OCPMUTRE

OCPMTURE
2. ¢

OCPMTUER

OCMPTURE



Question Number : 65 Question Id : 9741093606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

C. Coding and Decoding Problems
= Ui sf...f,::'/g_f};ﬂ.fi:'!

In a certain code if UNCLE 1s coded as DMBOT. then the AUNTY 15 coded as

Lo ¥ aunyd e S ADMBOTY UNCLE S8 (]

Options:

ZSOTB

1. %

ZUDVB

. % XSMTZ

XUMVZ
4. v

Sub-Section Number : 10
Sub-Section Id : 974109401
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 9741093607 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

H Tg s .';h i
._,J' Lfaf:,r‘l.bfl;;' =835



Which day of the week falls on 3 September 2018?
AT 2018~ /3

Options :

Friday A
1. %
5 % Saturday s
Sunday A
3. %
Monday S~
4.+

Question Number : 67 Question Id : 9741093608 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

WO S 1%y

The small angle between the hours hand and minutes hand in a clock when the time 15 4.52 pm

18
a— Lf!?}?u;dL:r"JJLJ!"'J_“.ﬁjﬂﬁﬁ[ﬁl.il pm
Options:
1549
1. %
166°



206°

1949

Question Number : 68 Question Id : 9741093609 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

e - -
S L B a3t

At what time between 8 and 9 o’clock will the hands of a clock be in the straight line, but not

together?

ULk, JQ AT~ (‘*‘/ By Jf-j L E 9.8

Options :
) s
12— min. past 8 s 412 %/Qig
1. %
10 2 min. past8 5
-y min. pas " 1[!— ,l._.fg
2.9
6, min. past 8 uﬁ_ J
3. %
8 3 ; -
9 ;min. past 8 s _ag %J,L_‘..é Q
4, %

Question Number : 69 Question Id : 9741093610 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



D. Date and Time & Arrangement Problems
WO S 1%y

Pointing to the lady at a bus stop, Lakshmi said “She 1s the sister of the father of my mother’s

son”. How 1s the lady related to Lakshmi?

-q_.u)f:L{,Jisd/%.i.ubdf:’”ojfd/(ﬁﬁwu‘bgcjﬁu_{/!.{:_.:,L*_-/! o
= f_o""g L~ u""fu'; -

Options :
Mother e
1.
Grandmother Ak /8l
2, ®
Aunt N>
3.¢
A Cousin JUJL_'..--"E}UOE{?J‘?}’

Question Number : 70 Question Id : 9741093611 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

S L A sl 3

Reaching the venue of a meeting 20 minutes before 8.50 hours, Anil found himself 30 minutes
earlier than the Chairman who came 40 minutes late to the meeting. Then the scheduled time

of the meeting 13

30 g mAn Lﬂf:.-’_d:/'!-%f 8.50&A 20" &

-

S S P e T S B P 0 SR



Options :

08.00
1.%
, w 08.05
08.10
3.
08.20
4.

Question Number : 71 Question Id : 9741093612 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

S L =S i

Two persons A and B decided to meet at a venue at the scheduled time. After his arrival at 5.15
pm, A found that he came 50 minutes earlier than B, who came 35 minutes late to the meeting.

What 15 the scheduled time of the meeting?
5150 AZ.;_,E/'/_"JL'LJLI'J::_"EJi’a_'.,:,f:;‘i_“ﬂau-j'fyibﬁjf_. BusIA
AT e Pt o35 2 B 50 B S A S
_Llﬂ‘L.‘..r(i;ﬁ:w—‘j"K_E’:‘
Options :

5.40 pm R

5.30 pm

5.30 |"i_"'..-f
2.



5.35 pm

535 |*‘L_"'.-f

6.05 pm
I 6.05 |*‘|._"'./

Question Number : 72 Question Id : 9741093613 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

Hf - -
S L B s =S5t

Three women P, Q. R and three men A, B. C sit at around table facing the centre. A sits between
Pand B, C sits between Q and R. Q 1s not a neighbour of B. Who is between P and C?

7 ‘ v ‘ By
Lﬁiﬂiiﬁﬂﬁ:_‘ﬁf—)’gf}fﬂ”{:}f”w' CHIB As~="L s R sl QPLLIL L

ClPKBe o (5% Q- nL R il Qe 2t U’ n LBl LAt

e ;.'E..-*-’JJZ-
Options:
A
1. %
2. % B

Question Number : 73 Question Id : 9741093614 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



D. Date and Time & Arrangement Problems
WO S 1%y

Ifa@b=a+2b+5af)b=3a-b+4,

then {(3@4) @5} Q {65} =

AT a@b=a+2b+5@b=3a-b+4.]l
e (309 D50 (605) =

Options :

72

36
2.

L)
]

64

Question Number : 74 Question Id : 9741093615 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

WO S 1%y



If the notation * is defined by the relation x* = x> + x + 1. then

(3" +(2") +12 _
(3*)-(2%)
/""g;(}_L._-rfLH/GJA_jI* — x4 10 Lttt /)
i _@YH2Y 112
N (3*}*_{23}*
Options :
= |
1. %
0
2. ®
1
3. %
2
4. &

Question Number : 75 Question Id : 9741093616 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
D. Date and Time & Arrangement Problems

WO S 1%y

AV = ¥V [ =3 M -
E2r=TF PR B s

. (3A2)A(3A2) - B0 T DY
- PETTTE ~E9 by =xy+1-y/)



Options :

7
1.+ 5
7
5
2. ®
7
5
3. %
5
7
4, ®
Mathematical Ability
SectionId: 97410953
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109402
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 9741093617 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY =46 (S (5L
1. Anthmetical Ability
SR Y



xz J’E 22

If x+y+2z=0anda > 0.then @z . a®w =

g - #
e am.av ~ES e_a > 0slx +y +2=0/)

Options :
1. % 1
_ a
2. %
a2
3. %
a3
4. &

Question Number : 77 Question Id : 9741093618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability
ST W

[f3%7Y =27 and 3**Y = 243, then x =

el 3y = 4337 = 27 /)

Options:
0
1. %
2



3.v¥

Question Number : 78 Question Id : 9741093619 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY =46 (§ (5L
1. Anthmetical Ability

=46 J7L
60 Kgs of an alloy A 1s mixed with 100 Kgs of Alloy B. If alloy A has lead and tin in the

ratio 3 : 2 and alloy B has tin and copper in the ratio 1 : 4. Then the amount of tin in the
new alloy 1s (in kgs)

et AL 100 ¢ B (s 60°A i (s
3Lt B Sl A3 2 LA Sl i
)g)u'JJKL-}fI_-_JC‘-"/du i L—’(f-"ﬁu- _.,.-‘ (

-

Options :

ad
N

44
2.9

h
-2

60



Question Number : 79 Question Id : 9741093620 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability

o L
ORI
The ratio of passengers travelling 1n first and third AC 1 trains between Hyderabad and
Vyjayawada 1s 1 : 50 and the ratio between their charges 15 3 : 1. The total fare collected

on a particular day for these passengers between these stations 1s Rs.132500, then the

amount collected from third AC passengers 1s (in rupees)

ACH P ACK AP Ll o ) i 2o e Aiu>
A 3 A e e 1050 A
L5 AC 49 e 1325000 Jrs§ L s I Udngl sl

_fﬂE’JTUHU{;JJ)?’!),B&JIJJLQ}}JV

Options:

118400
1. ®

120500
2. %

125000
3.

126200
4. ®

Question Number : 80 Question Id : 9741093621 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
SECTION — B - MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability
=6 S0

V7 Vi1 V5

B = x\77 + yV55 4 z/35. then 3x + 5y — 9z =

JI1-5 7y 1147

- = | E
Gl 3r 45y -9z= A 4 B 774 yEE + 2V35.]

Vil—5 75 V1147
-6

Options :

4
1.¢
2. % 7

2
3. %

1
4, %

Question Number : 81 Question Id : 9741093622 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability
A

2

If (4 + \/E)E + (4 — \fﬁ)g = pm , then the value of p 15

SR o (44 VIB) + (4~ VB = pyT0S)

Options :
1. %



5
2. %

6
3. %

7
4.

Question Number : 82 Question Id : 9741093623 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B - MATHEMATICAL ABILITY =46 ({ (L
1. Arnthmetical Ability

o 3
=AFOUL

Sum of the digits in the largest 4 digit number exactly divisible by 77 1s

R L,El.':.!f_.??{,;}’;_}'j e A A SraF b

Options :

3.¢

4. %



Question Number : 83 Question Id : 9741093624 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability

W 5
=AFOUTLY

The digit in the units place of the number (1 X 2 X 3 X...X 183) + 3'% i

£ 1 x2x3x..x 183) + 3% = b S W L sass”

Options :

¥
1.¢

6
2. %

3
3. %

1
4, %

Question Number : 84 Question Id : 9741093625 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B - MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability
246 J L



Three traffic lights A, B, € at the cross roads on a highway are set to show red signal at 10
am. If they turn to green after 15 secs, 25 secs and 30 sees respectively. when will they
show red signal again immediately after 10 am?

s SIS J 108 y=us L esios aB I BiFf
Jeondi s i L30micF259 15 s I fo
_g‘?_rubﬁ/dﬂu[,ﬂﬁ.-ﬂfd;}ié.lﬂw_'x”

Options :

10h:2m:30s : < i
- 1:2m am ,l;—"gB{} . '22’.1(}5-“

10h:1m:45s am L‘./gd-ﬁ o lgl [}é-ﬂ

2. %
:1m:50s ¢ 3 " .
. 10h:1m:50s am 4. Cops_s Iglﬂz}bi
10h:2m:00 am s Capns Zgi {]W
4. %

Question Number : 85 Question Id : 9741093626 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B - MATHEMATICAL ABILITY=.46 ({(5°L
1. Anthmetical Ability

ALY

What 15 the least number of square tiles required to pave the floor of a room of dimensions

24m T8 em X22 m 26 em ?

I AL S I e (L Ll ol
24 m 78 cm X22 m 26 cm-{Jf

Options:



3027

1. %

3127
2. ¥

JXT
3. %

T A
4, ®

Question Number : 86 Question Id : 9741093627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B - MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability
SRy
If == 14.7 where m,n are positive integers with no common divisors except 1. then
I

3m+2n=

—

-Z.li..!y'(,'/ ykw_J//"-f"n.’g:IM!_".s?'nﬁlmuLﬂ«?q_%= 14.7 /

-{_-J,GL_./?m + 2?1/-"3-‘

Options :

-2
D
(43

417



426
4, =

Question Number : 87 Question Id : 9741093628 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY =46 (S (5L
1. Anthmetical Ability

e T
Ao L

1.75x1.75x1.75+1.25%x1.25x1.25
1L753x1.75—1.75x1.25+1.25x1.25

Options :

1
1. %

2
2. %

3
3.+

4
4, ®

Question Number : 88 Question Id : 9741093629 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B - MATHEMATICAL ABILITY =46 ({ (5L
1. Anthmetical Ability

S T



IfP = 2352.5411. 3152. Q . 2352. 5410.3153. R = 2350. 5412.3419

and § = 2353. 540'9' 3150

Then the ascending order of the numbers of P, Q,R and § is

R = 2350. 5412.3419‘0 o 2352. 5410. 3133‘}3 o 2352.5411. 3152)}1

e ISR QAU A B ez s BT IS = 2353 5409, 3150°

Options :

S,R,P,Q

1. %

5,R0F
2.

.. POSR

Q,R,S,P
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Find the decreasing order of the following numbers.
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In an election contested by two candidates A and B. 5% of the voters did not vote. The

winning candidate B won by 7600 votes majority securing 51% of the votes polled. How
many votes were secured by B?
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Options :

190000
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Rat1o of incomes of Praveen in the years 2019 and 202015 5: 7. In 2019, he has spent 45%
of his income and saved Rs.4510. If he spends 70% of his mncome 1n 2020, then his savings
mn 2020 (in rupees) 1s

BTl 2019 5 5 T A K2020.0 2019 i T S0

e 210 ST I zuzlldl_./a:;ﬁ-K_/L;ﬁ:ts10;:“.:5_*.5 45%¥

_(uﬁ""'u;:_.,u)gé//g_,?(_“{u;ﬁ;_

Options :

3244
1. %

3324
2. %

3444
3.+

3464
4, ®

Question Number : 92 Question Id : 9741093633 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY =46 ({ (5L
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A wholesaler sells 50 articles at the marked price of 40 articles to the retailer. The retailer.

1 turn, sells them at the marked price of the article. Find the gain or loss percent of the
retailer.
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Options :
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30
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An article was sold at a loss of 10%. If it was sold for Rs.140 more. there would have been

a profit of 4%. Then the cost price of the article (in rupees) is

Tl s vt 8§/ s g rone ]

L= ugidfn S il A7 A i

Options :
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, o : 4 . :
Three persons A. B and C start a partnership business where A invested Sof the total capital

of B and C together and B 1nvested one third of the total capital of C and A, If the annual
profit 1s Rs.36 lakhs. then the share of C in lakhs of rupees 15
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Options :
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Three persons A, B and C start a partnership by mvesting 20 lakhs. 30 lakhs and 40 lakhs
respectively. After one year A withdrew his money and exited the partnership but B and €
continued for one more year. If the profit at the end of 2 year period 1s 32 lakhs, then the

share of the profit of A (in lakhs) 15
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Three taps P,Q and R can fill a cistern i 10 minutes, 15 minutes and 18 minutes
respectively. The cistern being empty. all the three taps are kept open and after 3 minutes

the tap R 1s closed. In how many minutes more will the cistern be full?
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Two pipes A and B can fill an empty tank m 16 hours and 12 hours respectively. The pipes
are used alternately for each one hour starting with pipe A at 9 am. Then the time at which
tank 1s filled 15

o > # " ;
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Praveen travels in his car from city A to city B at a speed for 60 kmph and returns from B

to A at a speed of 40 kmph. If the total time of the round trip travel takes 10 hours. what 1s
the distance between the cities A and B (in kms) ?
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Options :

240
1.4

280
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Anitha drove a car from a point X. 10 kms to East. 24 kms North and 17 kms to West to
reach a point Y. Find the linear distance between X and Y (in kms).

AU e B2 s F10 A O (M xpewd s
U B L YA Y ew e A e F 1Tl
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Options :
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Two persons A and B can complete a piece of work i 16, 24 days respectively. A started
the work alone. After few days B joined him and the work 1s finished in a total of 12 days.
After how many days did B join with A?
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Working 6 hours a day 15 men can complete a road work in 24 days. In addition to 15 men
some more men are employed and all of them work 8 hours a day can complete the same
work in 15 days. Then the number of additional men employed 1s

L uwsT15-u “;ézf&jur/u};24|JKK_L*--/LL-K£6@;M.~T15
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Options :
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The dimensions of a rectangular garden are 80m X 60m. There are two paths of the width
10m 1n the middle of the garden one parallel to the length and the other parallel to the

breadth. Excluding the paths, what 1s the area of the rest of the garden in square meters?
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If the diagonal of a square is 72 cm, then its area, in sq.cm.. is
_le,f@t-*’;-:f’éfﬁf-f”.fjﬁrﬁf-{f“g.hj’ﬁfJﬁ}sﬁjr—f) |

Options :

25

1. %



fad
(ol

2. ¥

49
3. %

64
4, ®

Question Number : 104 Question Id : 9741093645 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY =46 (S (5L
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The inner measurements of the length, the breadth and the depth of a rectangular tank

meters are 37 é, 12, 8 respectively. If 1 cubic meter of water weighs 1000 kg, what will be

the weight of the water in the tank when it is full (in 1000 kgs)?
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The inner dimensions of a closed box are 35 cm. 75 em and 115 em. The thickness of the

wood of which the box is made is 2.5 em. The total volume of the wood. in em’. is

q ‘ -1 ] A
}'Lf_fjc..d}u\f')q_ 115 emI75 em 35 cmu""')MdyﬂL'L.h.‘.-f—g
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The area of four walls of a room 15 128 sq.m. and the length of the room is equal to its
width and the height 1s 4 m. If the cost of tiling the floor 15 Rs.100 per sq.m., then the cost
of tiling the floor, in rupees, 15
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The base and attitude of a parallelogram are in the ratio 3 : 2 and its area 1s 216 sq.cm.

Then the length of the altitude, in em, 1s
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If the perimeter of a semicircle 144 cm, then its area, m sq.cm, 15
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If a,,a,,a; a4 0s,ag, @, are the remainders respectively when each of the numbers

52 6%,7%,82,9%,10%, 112 is divided by 15, then greatest integer among
a,,a,,05,0,, 05, 0,07 13
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The remainder when 2°° 1s divided by 5 s

MBS 52
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2. Algebraic and Geometrical Ability
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Set A has m elements and set B has n elements. If the number of elements in the power

set of A 1s 48 more than the number of elements in the power set of B, thenm + n =
48" Set AJ?EJU...-;J/FUJJ . s nU"set Bl t Pltms—"Set A
CeSherm +nd emlicsct B
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ItA={1,23,4,5,6,7} then the number of subsets of A containing only odd integers 1s
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2. Algebraic and Geometrical Ability
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Given that one of the zeroes of the cubic polynomial ax® + bx® + cx +d is zero. the

product of the other two zeroes i

~ K +bx +ex +d Uj’((}"/ﬂln’;f_—gr_.u?‘”uy—}ifﬁ;.yfg:
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Ifa,p are the roots of x> — 5x + 6 = 0, then the quadratic equation whose roots are @* + f

and %+ a is

Lo A F— T yn i —sx+6=07" AL f'a /I
_Z.ulﬁgﬁz +as a?+p JT A
Options:

= —18x 3+ 77=1
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Let a # 0 and p(x) be a polynomial of degree greater than 3. If p(x) leaves remainders
a and —a when divided by x + a and x — a respectively. then the remamder when p(x)is

divided byx?—a’is
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If x2—3x+2divides 2x*—5x3+2x2+ax+ b, then10a + 24 b =
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p of Mr A's present age 1s equal to 5 of Mr B’s present age. Six years ago, the age of Mr.A

15 equal to the age of Mr.B after 5 years. Then the greatest common divisor of the ages of
Mr.A and Mr.B. (as numbers) 15

1'-‘jL! A}-—-—"J‘.JJL_./{q_,{L{L gf-ja:ﬁr’JB /L"/z'-"fﬂ.‘ﬁfgbrﬁ/b'—'/
HJL’LJI.’J:.(":‘ UHU}PXJU;H_U;’AMLI-’}JMJLfﬁ JB/-—-"'

_¢=’_.L1_J3A_.a‘
Options :
9
1. %
10
2. %
11

3.v¥



12
4. %

Question Number : 118 Question Id : 9741093659 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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In a triangle ABC. 24, 2Band £C are respectively (2x + y)°,x° and (2y)°
and £C is 30° more than 2B then AABC 15 a

£C 82 (2y)° 4 (2x + y)°, :fc'_...{f'/—"’Jli:..:C,ul /B AU~ ABC _"*.ﬁ"_.g

KnptIEnBC 47 12 1B30°

Options :
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If one root of the equation x* — x + k = 0 (k s an integer) is the square of the other, then

k:
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The sum of the first 10 terms of an arithmetic progression i1s 120 and the sum of the next

10 terms 1s 320. Then the fifth term of that arithmetic progression s

EuA 10 L art & =T 120 ="K slas 10 &4 £ srd Y
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The sum of an infinite number of terms of a geometric progression 1s 23 and the sum of its

squares 15 69. What 1s the common ratio of that geometric progression?
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sin d+sinC

=
Co8|—
2

In triangle ABC. 2B = 60°, then
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sin90° + cos 180° + tan 60° + cosec 30° =

Options:
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= +V3+2
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Vsintx +4cos2x — Vcos*x +4sin2x =

Options:
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For any angle A. 3(sin*A + cos*A) — 2(sin®A + cos®4) =

- —3(sin*4 + cos*A) — 2(sin®4 + cos®4) A._“.-f'ﬁljuﬂ'{d)/
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2. Algebraic and Geometrical Ability
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The angles of elevation of the top of a tower and the top of a flag post on the tower from a

point on the ground 100 m from the foot of the tower are respectively 30° and 60°. Then

the length of the flag post. in meters. 1s

ol 5 = e’ L_./Fl.".«f__.ﬂj,:;! L skl i NS L —tf Lt
s e e de? T 60 1 30° 2l foot Lssk o e 100
B S

Options :



1003

1. %
200
72
2.%
200+/3
3. %
100
NG
4. %

Question Number : 127 Question Id : 9741093668 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

, /
h:f.ligur{l..;/:“ﬁ )MJ:’;’J'J!'fIﬁI

The perimeter of a triangle with vertices (0. 4). (0. 0) and (3. 0) 15

<6 (3.0) 41(0. 0)' (0. 4), Sos—* b oL

Options :

h

12

11

7+/5



Question Number : 128 Question Id : 9741093669 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

: i
'-':":.J:FU(J}"E,? )M’J:':’J'j}'fl’!:":l

Let ABC be a triangle with AB = 3 em. BC =4 em. CA =35 cm and D be the mid point of
BC. Then AD? =

g : " o
Y~ Dusl CA=5cm #BC=4cm AB=3em ¢t b+ {1ABC Jo/ /=~

—e il ap? ~EiBCe B

Options :

11
1. %

12
2. %

13
3.

14
4, =

Question Number : 129 Question Id : 9741093670 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

: i
A (S a2 Yo k5 el 221



The area of a trapezium 1s 312 sq.m. The perpendicular distance between its parallel sides
15 24m and the difference between the lengths of the parallel sides 1s 8 meters. The lengths
of parallel sides of that trapezium are (in meters)

24Mud»~f(uﬂ-"’dﬂ?-q_hf(jf-ﬂ1z - sypsf {]

L)"!’&'—-d/—;gur‘udﬂf’u_5'_.)’-*/”SL}“f-"’KUr‘udijmdﬁjgl_q_H’
£ A v )

Options :

12, 18
1. ®

11, 17
2. ®

2 17
3.
4% B 17

Question Number : 130 Question Id : 9741093671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

%GUF{JF%’? )MJ:{,’J‘JH;I,.-_"L!I

ABCD 1s a quadrilateral with diagonal AC = 8 cm, DF and BE are perpendiculars drawn
from D and B on AC. If BE =4 cm and area of ABCD 1s 20 sq.cm.. then DF (in ¢m) 1s

BIDY; £ACYs~—*BE/DF-¢—AC =8 cm /6™ Iy $— J_>—_{IABCD

-bﬁﬂyfuy(ujﬁ”&r) DF;LJ}KABCD =20 sq.cm....-jﬂﬂ BE=4cm fﬁ-f_.

Options :

1
1.¢



)

2. %

3
3. %

,_1_
4. %

Question Number : 131 Question Id : 9741093672 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

G (S 292 ) sis el £

In the given figure. AT 15 a tangent to the circle with centre O. such that OT = 4¢m and
£0TA=30°. Then AT (in cm) 1s equal to

See UL Lo

0
- & i q(‘_r?’,
A0T= 4::11144‘..5@2.0? ~ '30
* - A T
U O OAT 4T . £ OTA=30°
'?;"_.JJL_./‘
Options :
4
1. %
2
2. ®



43

Question Number : 132 Question Id : 9741093673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

: |
czi:ﬁ'ur(dﬁrﬁ )MJ':{"J‘JEM,-,"':I

- . . 3 . . T
If the area of a circle 15 1447 em-” and if an arc AB of the circle subtends an angle S at the

centre C of the circle. then the perimeter of the sector ABC of the circle, in em, 1s

S2e Ca P = Mew e s H9ABU™ $u011841 e I K713 /]
g - "

N g (O W WRVIV 7\ | P I S PR

Options :

12+ 1

Question Number : 133 Question Id : 9741093674 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

; j
'-':":.J'FU{J/:"{} )MH’J‘J}'fIﬁl



If the points (5, k), (z 4) ,(0,6) are collinear, then the value of k =

SIS kAT s 06) Ca) (5,k) 551

Options :

6
1. %

2
2. ¢

3
3. %

4
4. %

Question Number : 134 Question Id : 9741093675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

GG 292 )it il 2

The equation of the straight line dividing the line segment joining the ponts (1. 1)

and (2, 4) 1n the ratio 2 : 3 internally and having slope 10 1s

_.‘,-i__,.-,J__? %dui'f 4).4(1 _"agiliffn’ﬁ_*,ljuu(,—_fffH

IS e 100~ 3~ A=

Options :

50x —5y —59 =0
1.4 . 4



20x —2y—59=0

. 10x—y—29=10
3.

40x —4y —39 =0
4. %

Question Number : 135 Question Id : 9741093676 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

%%FUK{J/;“&% )MJ:{’J‘JHHJ.-,"'-:I

If line meets the coordinate axes in A(—7,0) and B(0,8). then the slope of the line which
1s perpendicular to AB 1s

=

oK AB =3 A 7 U bi~"1.8 L B(0,8)4A(-7,0) ~/

LS

Options :

7

8
1. %

=i
2.9
3. %

—8



Question Number : 136 Question Id : 9741093677 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

; j
'-':":.J'FU{J/:"{} )MH’J‘J}'fIﬁl

The equation of a line which 1s parallel to the line passing through the points (-3, 2) and

(3. -4) and passing through the origin 1s

J 5-_.3;:)2. (5. -4)281(-3, 2) BT gl (S35 S 2zl ) el

-f)‘fL.__.rf'A.:r”Ku-ﬂ

Options:

3x--3y =10
1.4
- 3x—4y =20

4x —3y =0
3. %

4x +3y =0
4. %

Question Number : 137 Question Id : 9741093678 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

: |
‘-':":.J'FU{J/:"-Z’.} )fﬁf})}'flﬁl



: s B : : -2
The equation of a straight line passing through (1. 1) and which makes an angle ?ﬁ with
the positive direction of X-axis is
; &2 ' 1
X- L—L—Jua/|_"wf?ﬁn_"ef'3'J}?J3!-ﬁ;-szJ Fadll s ) n’ffjg—-’p(_".flﬁu
- e f £ axis

Options :

V3x—y=+3-1

1. %
ﬁh+y=¢§+1
2.
3 % 2x—y—1=10
Xty —2=0
4. %

Question Number : 138 Question Id : 9741093679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

G (S 292 ) sis el £

The equation of the straight line which makes an intercept of 4 units on the positive side of

the Y-axis and 1s inclined at an angle 8 to X-axis where tané = 21

inc;_.u"’);;.{: Y-axis _*}L...J_".{:‘U.‘/_*Jﬂ.l/ﬁ;ﬁuudl—.’gf{—f
o fﬁt__..;q_.tan 6= % ' 'L.a.,«?q_.d/(_.a}bi,,r}(-axis Pl gy

Options :
1.



4y —3x—-16 =0

X —2w—dh— 1

2. %
x4y +4—=10
3. %
3 3y E1=0
4. %

Question Number : 139 Question Id : 9741093680 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

: |
czi:ﬁ'ur(dﬁrﬁ )MJ':{"J‘JEM,-,"':I

The X-intercept of the line 2x + 3y +7=01s

=& me X-Intercept K2x + 3y+7= C'/-../g

Options :
7
2
1. %
-7
2. ¢
3. %
=7
3



Question Number : 140 Question Id : 9741093681 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2. Algebraic and Geometrical Ability

; !
HFU{J}"&? _)M’J:':,J'J}'fl,{:‘.:l
The equation of the straight line passing through the pomt (4, 5) with the slope —2 1s

—} e —EUI}JEKJ"?_@.&J&L% 5) _-,E:_-,;l;[._./df,-_/ﬁfﬁ_#

ne

Options :

2+ y+i3 =0

1. %
2x-ty—8=—8
2. ®
Zy+x—9=10
3. %
Zxry—13 =48
4.
Sub-Section Number : 3
Sub-Section Id : 974109404
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9741093682 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3. Statistical Ability

P A |
el el

e



The average age of 120 students 1n a class 1s 16 years, 60% of students are girls and the
rest are boys. If the ratio of the average ages of girls and boys 15 6 : 7. then the average age
(1n years) of the girls 1s

A3y 60% e S 16~ bt fLb120L st ]
(= ud) b §ud?i use : 16U d e b it

_'fﬁl_“...j

Options :

1

Tad

Question Number : 142 Question Id : 9741093683 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

P T |
st QL



The salaries of 10 workers m a factory are given below. Then the mean salary of the

workers in the factory ( in rupees) 1s

bl Kul}"'“"Ju,-m;-f-Lng:g:—’ufj L,EI.E:.JU};}:}—-’ l()i.g_f/’L..)—Q

-gﬁ L:j( u"ﬁ"”” V g{-!u}
SINo. | Salary (in rupees) No. of workers
W | U | S Uk
1 15000 2
2 20000 2
3 30000 3
4 45000 2
5 60000 1
Options :
25000
1. %
35000
2. %
31000
3.¢
28000
4, %

Question Number : 143 Question Id : 9741093684 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

T R
=l el



If the mean of the set of 10 observations Xy, X,, ..., Xy 15 20, then the mean
'Df.xl + 4,.1'2 : B,X'g 3 22 . S X0+ 40 15

la-ulf—-’?;:;"‘-g_..l{]:xl,xg, ...,:meAIK_MfZ. 101
Kn Ay + 40,4+ 8,25 + 12, 1,9 + 40

Options :
34

Lad
20

40

42

Question Number : 144 Question Id : 9741093685 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

T R
=l el

e



What 1s the median of the following frequency distribution?

: b 4 '] # b | g.f‘? .
_gﬁL:fGnedmnc,_':A:.f’ Klf‘.. U!A..J'L..i:_*u':"#uh

Class 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
R -
Frequency 18 32 43 55 39 13

Vb

Options:

442
11

Question Number : 145 Question Id : 9741093686 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

T N
el el



What 1s the median of the following observations?

Ky L."..J;neclianu:ifﬁcﬁfu-/'z. U.F:j
8,.12,11,2,4,5,10,9,10,7,8,9

Options:

8
1.¢

115

14

Question Number : 146 Question Id : 9741093687 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

P A |
et QL

The mode of the following distribution of the marks obtamed by the students i an

examination 1s

_:J/,f“:L}‘i‘f‘-ﬁ'_.u':ﬁ.‘}J_";tLi-}U’.f"”uL,?!nuU“lLﬁiwu?"uki

Marks obtained 0-20 | 20-40 | 40-60 | 60-80 | 80-100
_'f';-.."'.-}r.!/lb"'ﬁL.-P

No. of students 15 18 21 29 17
JI)L_...JJL_.J’

Options :



h
o0

1. %
68

2.
53

3. %
78

4, %

Question Number : 147 Question Id : 9741093688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

P I |
bl QL

The mode of the distribution whose mean 25 and the median 24 1s

Kl S 1 24 i 25k

Options :
26



Question Number : 148 Question Id : 9741093689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3. Statistical Ability

'-"l.,:r'..::f &

If a number 15 selected from the first 25 natural numbers. then the probability that it is not

a prume number 1s

Sist A b9 un IS B ous o o sui125 aad /|

| f)‘i ~—probability

Options :

25
1. %

16
> & 25
3. %

11

25
4., %

Question Number : 149 Question Id : 9741093690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3. Statistical Ability

'E'.,_:r’...':., -



10 students are standing in a row. If two out of them are chosen at random. then the

probability that the chosen two students are adjacent to each other 15

:TL_.-«-?L.“..J_..-? {:;?&Lﬁlﬁsau?’”ul-ujr_.}-’( ( 10) " :Lﬁ_.g

S probabilityl§ st o= m9 LA ydn ~%

Options :
1% 5
1
2.v  °
3. %
4. ®

Question Number : 150 Question Id : 9741093691 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3. Statistical Ability

P e |
ekl el

If three fair dice are thrown simultaneously, then the probability of getting sum 15 is

# ~ . & ' * - i y [
v L—;APmbabilir;w,‘,r LTS AT Lt e 5o LD\

Options :

108
1.¢



2. %
216
3. %
5
—
4, %
Communication Ability
Section Id : 97410954
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109405
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 9741093692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

His handwriting is legible.

(The underlined word means)

Options:
1.4



readable

vague
2. %
unreadable
ambiguous
4. %

Question Number : 152 Question Id : 9741093693 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

He is known to have acquired wealth through dubious means.

(The underlined word means)

Options :

careful
1. %

trustworthy
2. %

lawtul
3. %

doubtful
4.

Question Number : 153 Question Id : 9741093694 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY — Meanings

The matter has to be approached in a discreet manner.

(The underlined word means.)
Options :
interesting

1. %

powerful
2. %

prudent
3.v¥

impatient

Question Number : 154 Question Id : 9741093695 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

We are all amenable to law.

(The underlined word means)
Options :

irresponsible
1. %

ignorant

responsible
3.¢



vulnerable

Question Number : 155 Question Id : 9741093696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

Her remarks were iIl]pETllOllS.

(The underlined word means.)
Options :
1 % studied

hasty

2. ¥

, . bold

CONSCIOUS

Sub-Section Number : 2
Sub-Section Id : 974109406
Question Shuffling Allowed : Yes

Question Number : 156 Question Id : 9741093697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The synonym of ‘impromptu’ is

Options :

prepared



unprepared
2. ¥

prompt
3. %

careless
4, ®

Question Number : 157 Question Id : 9741093698 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

Synonym of ‘excruciating’

Options :

pleasant

acute

cute

mute

Question Number : 158 Question Id : 9741093699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



The synonym of ‘sagacious’ is

Options :
wise
1.¢

dense

obtuse

simple
4. %

Question Number : 159 Question Id : 9741093700 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of ‘vilify’ is

Options :

|« Teset

exhilarate

venerate
3.¢

elate

Question Number : 160 Question Id : 9741093701 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of ‘vigorous’

Options :

energetic

dynamic

sluggish

robust

Sub-Section Number : 3
Sub-Section Id : 974109407
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9741093702 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

I my purse yesterday.
Options :
lost
1.¢

have lost



had lost

lose

Question Number : 162 Question Id : 9741093703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

We asked him why he applied for the job earlier.

Options:

hasn’t
1. %

haven’t

didn’t

hadn’t

Question Number : 163 Question Id : 9741093704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

Had the equipment reached us in time, we the bridge.

Options:



could complete

1. %

Can have completed
2. %

could have completed
3.v

had completed
4.

Question Number : 164 Question Id : 9741093705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

When Tina was a little girl, she spend hours in her backyard playing.

Options :

was

used to

18

should



Question Number : 165 Question Id : 9741093706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

What do you think after ten years.

Options :

you did

you have been doing

2. ®
you will be doing
3.¥
you were doing
4, %
Sub-Section Number : 4
Sub-Section Id : 974109408
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 9741093707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

It took me a month to the fatigue.

Options :

get over



get out

2. %

get into
3. %

get off
4. %

Question Number : 167 Question Id : 9741093708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

The bank the company’s debt.

Options :

wrote off

wrote of

wrote out

wrote by

Question Number : 168 Question Id : 9741093709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

Sudhir can be annoying at times but his heart s in the right place.

(The underlined idiom means)

Options :

He is healthy.

He has good intentions.
2.

He can be arrogant at times.
3. %

He i1s stupid at times.

Question Number : 169 Question Id : 9741093710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

“We need to hash the procedure out’

(What 1s the meaning of the underlined phrase?)

Options :

We need to check the procedure.



We need to abandon the procedure.

We need to discuss the procedure at length.
3.¢

We need to avoid the procedure.

Question Number : 170 Question Id : 9741093711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

An attack of COVID pulled him down.

(What does the underlined idiom mean?)

Options :

strengthened

forced

threw

weakened
4. &

Sub-Section Number : 5
Sub-Section Id : 974109409
Question Shuffling Allowed : Yes



Question Number : 171 Question Id : 9741093712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Shikar is so sharp that he can solve any problem ease.

Options :

for

n

with
3. %

by

Question Number : 172 Question Id : 9741093713 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He is an amateur. He draws pictures pleasure.

Options :

-~

for
1.9

above



from

Question Number : 173 Question Id : 9741093714 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

man over there seems to be ill.

Options :

A

An

The

Since
4, ®

Question Number : 174 Question Id : 9741093715 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



He was one minute late to examination centre and was not allowed 1.

Options :

. a
1. %

that

dll
3. %

the

Question Number : 175 Question Id : 9741093716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Though fashionable, this is ugly dress.

Options :

a

dll

the



with

Sub-Section Number : 6
Sub-Section Id : 974109410
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 9741093717 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which unit is used to measure the speed of a CPU?

Options :
GHz

1.¢

MBPS

Megabytes

Pixels
4, %

Question Number : 177 Question Id : 9741093718 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



Which type of memory is volatile and loses data when the power is turned off?

Options :

Hard drive

1. %

ROM

RAM
3.¢

Flash Memory

Question Number : 178 Question Id : 9741093719 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which of the following is a cyber threat?

Options:

Firewall

Phishing
2. ¢

Data encryption
3. %



VPN

Question Number : 179 Question Id : 9741093720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which type of malware replicates itself to spread across computers?

Options :
Spyware

1. %

Trojan
2. %

Ransomware
3. %

Worl
4. &

Question Number : 180 Question Id : 9741093721 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which component is responsible for rendering graphics in a computer?

Options :

.« CPU



RAM

2. %

GPU
3. ¥

SSD
4, %
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

At the meeting, the Managing Director put forth to infroduce more part time

positions in the company.
Options :

a motion

an agenda
2. %

minutes

a referendum
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

A measure of profitability of an investment is called

Options :
Equity

Loss

Cash flow

Return of Investment
4. <
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

The of the tech company was 10% higher than that of its nearest competitor.

Options :

start up

mrnover
2.9



stock market

manufacture
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

The business 1s more than doubled since the company went into with a

multinational company.

Options:

profit

market

partnership
3. ¥

break
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SECTION - C : COMMUNICATION ABILITY — Business Terminology

Ravi works for a well-known law



Options :

business

company

factory

firm
4,
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1



A permanent steno-typist was now needed m Miss Dick’s place, and I was fortunate in
getting another girl. She was Miss Schlesin. Introduced to me by Mr. Kallenback,
whom the reader will know in due course. She is at present a teacher in one of the High
Schools in the Transvaal. She was about seventeen when she came to me. Some of her
idiosyncrasies were at times too much for Mr. Kallenbach and me. She had come less
to work as a steno-typist than to gain experience. Colour prejudice was foreign to her
temperament. She seemed to mind neither age nor experience. She would not hesitate
even to the pomt of msulting a man and telling him to his face what she thought of him.
Her impetuosity often landed me in difficulties but her open and guileless temperament
removed them as soon as they were created. Ihave often signed without revision letter
typed by her, as T considered her English to be better than mine, and had the fullest
confidence of her loyalty. Her sactifice was great. For a considerable period, she did
not draw more than 6 pounds, and refused ever to receve more than 10 pounds a month.
When I urged her to take more, she would give me a scolding and say, ‘T am not here to

draw a salary from you. I am here because I like to work with you and I like your ideals.”
Sub questions
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

Who introduced the new steno-typist to the author?

Options :

Miss Dick

Miss Schlesin
2. %



Mr Kallenbach
3. v

The author himself
4, %
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

‘Colour prejudice was foreign to her temperament’, what does it mean?

Options :
She discriminated against the blacks.

She was prejudiced against the whites.

Indians were treated by her as foreigners.

She was not prejudiced against the Indians on the basis of their ‘colour’
4.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

What 1s the meaning of the word ‘impetuosity’ ?

Options :



laziness

impulsiveness

calmness

indifference
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The author says, ‘T have often signed without revision letters typed by her.” Why?

Options :

Because his language was better than hers.
1.%

Because he did not want to trouble her with more work.

Because her language was better than his.

Because he was afraid of her impetuous temperament.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1



How much salary did the steno-typist draw from the author?

Options :

12 pounds a month.
1. %

6 dollars a month

2. %
12 dollars a month
6 pounds a month.
4, &
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2



A comet is a small, icy and dusty celestial body that orbits the Sun. It consists of a
nucleolus which is the solid centre of the comet, and a coma which is the cloud of gas
and dust surrounding the nucleolus. When a comet passes close to the Sun, the Sun’s
heat expands the comet and creates a bright glowing halo called a coma. Comets are
often called dirty snow balls because they are composed of water, methane and other
volatiles. They are believed to be remnants of the early solar system and many provide

msight into the formation and evolution of the planets.

Sub questions
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

A comet 18

Options:

a small icy and dark celestial body that orbits the universe.

a small icy and dusty celestial body that orbits the Sun.
2.¥

a large cold and dark celestial body that orbits the Moon.
3. %

a small icy and dusty earthly body that orbits the Sun.

Question Number : 192 Question Id : 9741093735 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

form parts of a comet.

Options :

A solid and a coma
1. %

A coma and a halo
2. %

A nucleolus and a coma
3. v

A nucleolus and a halo
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

The bright glowing halo around the comet is caused by :

Options :
the cloud and dust expanding the nucleus.

1. %

the sun’s light reflecting off the comet.
2. %



the collision of the nucleus with the comet.

the sun’s heat expanding the comet.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

Coma 1s

Options:

the cloud of gas and dust surrounding the nucleolus.
1.4

the cloud of gas and dust surrounding the comet.

the bright glowing light around the sun.

the dull glowing light around the sun.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2



The word ‘remnant’ means

Options :

whole

bulk

residue

addition
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



Hundred years ago, as humans we had an uncomplicated biological connect. We drew
roughly 3000 calories of energy each, out of the earth for our food and life’s sustenance.
Today it has grown to 1,00,000 calories. We need only 3000 calories each to nourish
life even now. All the rest of the energy is what we extract from the earth for everything

else besides keeping ourselves alive,

How to soften this abuse of resources and move towards sustainable development?
Beyond the ceremonial planting of green, gettig people to run marathons in support of
environment, is there more that we can do for the sustamablity of development? Of
course, 1t helps to avoid a plastic bag and use a jute bag which you can reuse without
the abuse of the earth. However, there’s actually quite a bit you and I can do without
compromise on comfort, with very little cost incurred, with financial savings so that we
can gain on energy and water use to secure our present as well as future development

without the abuse of earth.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Human connect with nature in olden days was

Options :

simple
1.4



complex

inaccessible

exacting
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

The author asks us to use jute bag because

Options :

To promote the use of resources.

To lessen the abuse of resources.

Jute bags are fashionable.

Jute Bags consume only 3000 calories.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

According to the author sustainable development is

Options :

Using earth’s resources for present development.

Abusing earth’s resources for present development.

Using earth’s resources with care for present and future development.
3.¢¥

Abusing earth’s resources for present and future development.
4. %
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Sustainable development involves

Options :
Lot of cost, compromise on comfort and savings. losing on energy and water

1. % usage.

Very little cost. no compromise on comfort and savings gain on water and
)« Chergy usage.



No additional cost but lot of compromise on comfort and savings, losing on
energy and water usage.

Very little cost, but compromise on comfort and savings gain on water and
4 % cnergy usage.
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SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

In the context of the given passage, which of the following statements is true?

Options:

We aren’t abusing earth’s resources.

_ We can’t do anything about the abuse of earth’s resources.

We are consuming earth’s resources in proportion to our requirement.

We used to consume earth’s resources in proportion to our requirements.
4.





